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Most Expected 250 Questions (Super Series)

Q.1 T EEAT AT yeal o oy &t TE ¥ [y -
foreredt o & WE fowed g9 A AT B R R/ A
series iIs given with one term missing. Choose the

correct alternative from the given ones that will

complete the series.

BFH, GED, LCA, e

A]KOP B|DILJ
C]|JBD D] CFK




Most Expected 250 Questions (Super Series)

Q.2 Count the number of triangles in the given figure /

fau Ty arieng ¥ Fryyet Y dean fn
\//“\ o

Al 14 B] 12
C] 22 D] 24




Most Expected 250 Questions (Super Series)

Q.3 Ue oA 3R U Y 21T T ART 58 B IR AT
T STTUTA 19:10 B TR, 1 Y SHT 3T R T et
“ITU| / The sum of ages of a father and son is 58.
The ratio of ages of them is 19:10. Then find the

present age of son.

A] 20 B] 32
C] 18 D] 10



Most Expected 250 Questions (Super Series)

Q.4 select the odd word from the given
alternatives / TS0 7T forehedT H § ToraW 31 <Rt

-
T h

A] Berlin/ i B] Vientiane / =T o=
C] Ottawa / I D] Croatia / El-ﬁ'Qﬁ'ITIT



Most Expected 250 Questions (Super Series)

Q.5 IIHA H I US hl UG o /
Identify the next term in the sequence

1, 1, 5, 23, 71, 171, ?

A]343  BJ]243
C|351 D] 295



Most Expected 250 Questions (Super Series)

Q.6 Identify the term which best replaces the
question mark. / 39 faereq & Ugam=a & ST OH
g & e wEw =Tt B

0, 6,24, 60, 2, 210

A]100  B] 136
C]120 D] 144



Most Expected 250 Questions (Super Series)

Q.7 THTIRId IIeai I IeThIVT & HA & FTAN
SIATU il / Arrange the following words as per order
in the dictionary.
1: Zechins
2: Zebraic
3: Zestful

4: Zebrano

S: Zebrass
Al4,2,5,1,3 B]2,4,5,1,3

C]2,54,1,3 D]2,4,1,5,3



Most Expected 250 Questions (Super Series)

Q.8 Select the related word/letters/number from the
given alternatives. / 72U 70 faereut W & Hafa s /

R / ST ! FHTY
AGM: CFL :: NQT 2 ?

A]PRT  B]PSW
C|PQR D] OPR



Most Expected 250 Questions (Super Series)

Q.9 3 3T I I AT SEAT H T AT AT / Choose

the figure which should come next in the series.




Most Expected 250 Questions (Super Series)

Q.10 A machine codes HIATUS as 891202119, which
word will be coded as 135182 / HYTIF 1€ HIATUS 1

891202119 < &Y W, foh T T2 i 13518 o T H Hhiled
feraT StTUTTT?

Al MEAH B] ACER
C] MER D] Cannot be determined



Most Expected 250 Questions (Super Series)

Q.11 hYAI: g@'aﬁﬁﬁ‘?ﬂﬁ?ﬁ%l / Statement I: Some bottles are plastics.
HAT [1: AT T TATieeeh g1 / Statement I1: All boxes are plastics.

v 111 g@wm%l / Statement 111: Some boxes are containers.
IEL=2RE WWW%I / Conclusion I: Some containers are plastics.
ARy 11 g@ﬁﬁ?lﬁm%l / Conclusion II: Some bottles are containers.

AeRe 1 FATATT AT 2 / Conclusion I follows
ey 11 FTEI0T FAT 2 / Conclusion II follows
aﬁ'rﬁﬁ'%ﬁé‘ I 31X TSR 11 3F\-|;HTUT ?:I'T{ﬁ‘%/ Both conclusion I and conclusion II follow

T dr TeaRy I 3R Asany 11 FATEI0T FA 2 / Neither conclusion I

S o % 2~




Most Expected 250 Questions (Super Series)

Q.12 A piece of paper is folded and punched as shown in the
figure below. From the below answer figures, indicate how
it will appear when opened/ ShTTST <kl Teh gcheT HST AR el
g § St ok e o e fomr & fomarma wma @) = feg g
3T o TTeRet A, A Tt foh 30 @ie W kY fe@rg




Most Expected 250 Questions (Super Series)

Q.13 9 =g 2" & ®U W 9IS T3 WEAT W ATIAT TEAT FTA hiTT0?

/ Find the missing number in the figure represented as ¢?

S / /r\\ >4
oL/ G X
L ATy,
L)
B ¢ \o W : / ——

A] 132 B] 221
C] 212 D] 321




Most Expected 250 Questions (Super Series)

Q.14 Select the odd letters from the given alternatives.

/ Terw T forereut o foromr e1emt &t <

A] UPK B] MGA
CIRMH D] SNI



Most Expected 250 Questions (Super Series)

el %Iih_cr ?ﬁr Sl 31'@!?'” Ca) qua AT / A series is given with

one term missing. Choose the correct alternative from the

given ones that will complete the series.

JKL, CEG, RUX, ?, HMR

9

A] DHL B] LKD
C] MWF D] JVE



Most Expected 250 Questions (Super Series)

Q.16 In a certain code language, ‘FANATIC’ is coded as
‘GCQEYO0J’. How will ‘QUEST” be coded in the same language?
/ Tk (AT e WTNT H, 'FANATIC' st 'GCQEYOJ' F &UH
Hited foRaT ATAT 21 SHT AT H 'QUEST' ! fore TehR hifed feram

W (&

A]RWHWY B] RUTHY
C] STURV D] RVFTU



Most Expected 250 Questions (Super Series)

Q.17 F=feTRaa vy o, 2w o forereat @ wefera vreg &t o=@ &
HH HY; AT 2 Qﬁh‘ﬁlﬁ e
/ In the following question, select the related word from the given

alternatives. Alleviate: Intensify :: Affinity:

A] GTHST=I/ Harmony B] ftaé/ Rapport
C] W‘Hﬁ/ Empathy D] ¥UTl/ Aversion



Most Expected 250 Questions (Super Series)

Q.18 Arrange the words given below in meaningfu
order. /ﬁ{qnnmﬁaﬁmdmmﬁmﬁ%aﬁl
1. Neighbourhood / 9ST&®
2. City / 18X
3. House / ¥X
4. State / UTSA

5. Room / ShHATT

A] 53124 B] 53214
C] 35124 D] 35142



Most Expected 250 Questions (Super Series)

Q.19 EEt forehey T+ dtier wEATe & wHt SISt & i
Haer THT &1 / Choose the correct option so that the

relationship between all pairs of numbers is same.

8%9=49,6*5=35,5*7=

INEL B] 32
C] 28 D] 35



Most Expected 250 Questions (Super Series)

Q.20 Which of the following answer figures can be made
using below question figure? iR 3T|3§ﬁr T ST
hteh FforRae ¥ & @i ot ST STTehR{d a1 ST ehet 82




Most Expected 250 Questions (Super Series)

Q.21 Forur w61 weafa 21 R, 2013 131 9 TEAR A TR
fereTen o1 ST 2 |TEE 2014 (ST a9 TE) T E, A7 1T wHTE
foreTer st STATe fore | BOTT? / Kiran®s birthday is on 21st
December, 2013. It falls on a Thursday. On what day of the

week will be Tilak’s birthday next year, if Tilak was born on

March 2nd (2014 is not a leap year) ? ( >

A] Sunday B] Monday
C] Saturday D] Friday



Most Expected 250 Questions (Super Series)

nnnnnnnnn

Q.22 Select the option that is related to the fifth term in the same way as
second term is related to the first term and the fourth term is related to the

third term.

39 Torehed =Rt =@ <hTINTT ST Ui Ue | 38T TR Heiterd g i e ga
U UEHl Ug § 3T 1T Ug 1y ug | Heiferd Bl

BROWSER : SERWBRO :: CAPTURE : URETCAP :: DESKTOP

()

a) SEDKTOP b) TOPKDES
¢) TPOKEDS d) TOPKSED




Most Expected 250 Questions (Super Series)

Q.23 T2 U ferereut ® O foww wew & o
@3 / Select the odd number from the given

alternatives:

A] 41 B] 49
C] 67 KX



Most Expected 250 Questions (Super Series)

Q.24 Arrange the words given below in meaningtul order. /
faw TTu vreE} w1 wrefen ohw  safierd W
1. Harvesting / %81
2. Selection / TIA

3. Sowing / I3
4. Growth / faeTa

5. Fertilizer /39%h

A] 23451 B] 23541
C] 35412 D] 34512



Most Expected 250 Questions (Super Series)

Q.25 IR & SHA mmﬁm%ﬁa?rwzﬁ—qaﬁm

& / Arrange the following words as per order in dictionary.

= W N -

: supportive

: supreme

: supposing

: suppose

: supportable

A]1,5,3,4,2 B]|5,1,4,3,2
C]1,5,4,2,3 D|5,1,3,2,4



Most Bpected 250 Guestions (Super Series)

Q.26 How many times 29 dates will come in 100 years?

100 9T H 29 ar@ feha=t IR AT

(A) 24
(B) 1124
(C) 1100
(D) 1200



- @‘ SITRE - K, M,N,P,Q 3R RQ?:FTﬁT«rﬁT-r%ﬁqﬁ?r aﬁ Q.27 Six people - K, M, N, P, Q and R aT\s
% mma%%l K%ﬁa"\mamaﬁqaa%‘? sitting around a circular table facing the
N . centre.

(D) K, M & 978 3T 1 T W T3T gl K TR N &

Who sits to the immediate right of K?

Eﬁﬂwwaﬁ?aﬂ%' R,N a;mmam%l (I) K sits third to the left of M. Only one

dn dn kK, Q & mg‘ 3R ac\'{ﬁ' TATT 9T AT %1 K 3R M person sits between K and N. R sits to the
a-?aﬁﬂamﬁa}aqﬁsaﬁ-%l P, R%aﬁaﬁ'{g\-{ﬁ immediate left of N.

TATT W 3T 2

/ ‘ (IT) K sits second to the right of Q. Only
\ .—JI—D\> two people sit between K and M. P sits
Vo= [

L) second to the left of R.

1. YA [ H f2aT 7141 227 3Tehel T T 3T 2 o TeT0 UITH 8 JAdieh = [ W 22T 781 gl
2. JU AT HAT [ AT RAT [ H ST TH T 3T 2 o {70 7w 2

3. R [ 3T 11 # T3 17T S1er Uk |1y U T 3T 3 o foT uaiw 2

4. TR HYT 11 H ST TY HT I 2 <k {70 qATH T STk e [ H 22T 781 2



Most Expected 250 Questions (Super Series)

Q.28 THY: AT FaATTH WO A, T wrST gaTey wn
T 3 HT TN JHhT TEAHTA HA &l T TR g WTeft
AR NS AT @A §, a9 ¥ A A A qET T 1,
e geeaTd e €

31331417-[:

I T+t ZHEATE STeferen T o SHIUT BT &)
I1. 3T 7T & FeleAT T T 9 AT 2l

BAO N

1. If only I follows

2. If both I and II follow

3. If only II follows

4. If neither I nor 11 follows

nnnnnnnnn

National Expressway-A is the

widest expressway and is used
by few people. When people
find an empty and wide road,
people drive at high speed,
which leads to accidents.
Inference:

I. All accidents happen due to
over speeding.

I1. High speed increases the risk

of accident.



Most Expected 250 Questions (Super Series)

Q.29 Which of the following numbers will replace the
mark (?) in the given series?/ AHIRaa ® ¥ HhIA-H T&AT & T
vierer # s forg (2) 1 worm it

17, 20, 60, 64, 256, 261, 1305, ? (/ D>
//\g; N /7

a) 1346
b) 1361
¢) 1284
d) 1311



Most Expected 250 Questions (Super Series)

Q.30 Select the correct combination of mathematical signs to
replace the * signs and to balance the given equation.
* forgt wht ae ﬁmwmaﬁg@%ﬂw%m
230*1*5*16 *41 * 21

a) x, _, +, _,=
b)+, +, X, -, =
C) — +, _, X,=



Most Expected 250 Questions (Super Series)




